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3 gasl) Q\J#SM

ol

8x+ 6x —3x— 3()(3 + 6x3)

47 + 4x+ 9 — 2x + 9’

55 + 5% — Sx — 2(8x + 8x2)

0 — 4> — 5" — 6x — x°

x3 + 5x3 + 8x2 — 5x2 — 4x2

Al

3(3x2 — 8x2) +x— 9 — 4x?

3x— 6% — 2(9x2 + 9x) +x

4x—x)—3x+ 8% — 2x

Ox + 8> + 6x° — 2(8x° — 8x)

x—4x—4(3x + 7x2) + 5x
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3 gasl) Q\Jﬁﬁsm

ol

8x+ 6x —3x— 3()(3 + 6x3)
—21x° + 11x

4 + dx + 9 — 2+ 9x?
13x° + 9% + 2x

5 + 5%% — 5x — 2(8x + 8x2)
50 — 112 — 21x

O — 4> — 5% — 6x — x°
43 — 5% — 6x

X+ 56 + 8% — 5xF — 4x?

6x° — x>

Aagull NGBS

3(3x% — 8x%) +x — 9% — 4x?
—28x% + x

3x— 6x° — 2(9x% + 9x) + x
~24x* — 14x

4x—x)—3x+ 8x° — 2x?
8> — 2% — 3x

ox% + 8 + 6x% — 2(8x> — &x)
—8x> + 1522 + 16x

x—4x—4(Gx+ 7x2) + 5x2
~23x% — 15x
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